

				Agency Ivame			
Supplier :	ZENITH	MEDICAL	EQUIPMENT, INC		P.O. No. :	23-09-0658	
Address:		al Ave., Sta. C		navitovas albigi	Date :	09/22/20	23
Address .	112011120	ar / tvo.; Ota. O	uz, wama		Mode of Procurement: PUBLIC BIDDING		
Gentlemen:	Please fu	rnish this of	fice the following a	articles subject to the terms and	conditions co	ntained herein:	
				and subject to the terms and	pah or	Officer City	
Place of De Date of De		Pasig City G	eneral Hospital			: 60 Calendar Days	completion of deliver
ITEM				155 0	1	UNIT	. completion of deliver
NO.	UNIT	OTY	and a laine seem to the seem to be a seem to	DESCRIPTION		COST	AMOUNT
			VARIOUS LAF	PAROSCOPIC INSTRUMENTS	ogestion		
1	PCS	2	Spatula Electro	ode Tip, 330mm length (size) Ø KERMANN INSTRUMENTE GN	5mm	12,000.00	24,000.00
2	PCS	2		de (Tip) 330mm length, Ø 5mm KERMANN INSTRUMENTE GN		12,000.00	24,000.00
3	PCS	2	MONOPOLAR	CABLE, 3m (meter), Generator	Side	2,380.00	4,760.00
4	PCS	ag og Here	the state of the s	CKERMANN INSTRUMENTE (Ider, Flushable, convex/concave		91,600.00	91,600.00
	765	ytorius ar	self- uprighting	, 330mm (Length). Flushable, c		91,000.00	91,600.00
5	PCS	1	Lap Instrument 580x280x100m	(Sterilization) Container im, ACKERMANN INSTRUMEN	TE Press V	74,150.00	74,150.00
6	PCS	1		one Mat (Cushioning) 520x230n	nm,	24,500.00	24,500.00
7	PCS	e e 1		INSTRUMENTE GMBH basket 540x255x70mm, ACKE	RMANN	32,050.00	32,050.00
8	BAG	2	INSTRUMENT			4,750.00	9,500.00
9		10000	ACKERMANN	INSTRUMENTE GMBH	with colorism	ordale ser	
	PCS	15 Union 110	ACKERMANN	cissors, Ø5mm, curved, (insert INSTRUMENTE GMBH	giz of States	29,200.00	58,400.00
10	PCS	2	De Bakey Grasping Forceps, Ø5mm, jaw length 45mm, (insert), ACKERMANN INSTRUMENTE GMBH			30,100.00	60,200.00
11	PCS	2	Babcock Ø5mr	n, (insert), ACKERMANN E GMBH	ni fauturi	29,000.00	58,000.00
12	PCS	2	Johan grasping	g forceps, Ø5mm, 25mm, slight		28,100.00	56,200.00
13	PCS	1	Carbon fibre re	jaws, (insert), ACKERMANN INSTRUMENTE GMBH Carbon fibre reusable handle, non conductive,		16,000.00	16,000.00
				INSTRUMENTE GMBH	aura balt manu		
			vaterna prominoja i				
Control No	4074						
10/10/10/10/10/10/10/10/10/10/10/10/10/1	0	ottirodi i oc	lights to those and	The state of the s	lahi ologidh il	SUBTOTAL:	Php 533,360.00
			(684)	e Thousand Three Hundred Sixty	etaA" de cuvera	Lina teritibre	
In o for every	case of the day of dela	failure to ma ay shall be in	ke the full delivery was provided f	ithin the time specified above, a pe or by the, 2016 IRR of RA 9184.	nalty of one ten	th (1/10) of one (1) p	ercent
					er light visus		
					Very truly y	ours,	
Conforn	ne:				1 18 918 act		
			Julmes.		VICTO	R MA REGIS N.	SOTTO
	-	MELISSA	M. TORRES			(Authorized Offici	al)
	(Signa	ature over prin	ted name of Supplier)			City Mayor	
		10/5	123				
		D	ate				
Requisitio	ning Offic	re/Dept.:		Funds Available :			
_	_	_		KIN	y' .	Amount:	989, 110,000
PAULO	A. CAST	RO JR., M	D, PHD	JUVY A. CUENCO	$ \sqrt{} $	OBR No . 100	- 20 23 - 05
		zed Official)		Chief Accountant	/	02	17-4421
							Page - 1



PURCHASE ORDER CITY GOVERNMENT OF PASIG

				Agency Name				
Supplier :	ZENITH	MEDICAL E	QUIPMENT, INC		P.O. N	No.:	23-09-0658	
Address:		al Ave., Sta. Cru		evolpt as hare	Date	nichs	23	
				,02	Mode	of Pro	curement: PUBLIC BIDDI	NG
Gentlemen:	Please fu	rnish this offi	ce the following a	rticles subject to the terms an	d condition	ons co	ntained herein:	
Place of De Date of De	900	Pasig City Ge	eneral Hospital		The second secon		n : 60 Calendar Days	completion of deliver
ITEM NO.	UNIT	OTY		DESCRIPTION			UNIT COST	AMOUNT
14	PCS	1		usale handle, non conductive chet, ACKERMANN INSTRUM	and the second late.	15 (\$A 0 (\$4) (\$ 0 (\$0) (\$)	16,800.00	16,800.00
ÎŜ	PCS	2 four re- resido fest se sene resulte sene	Ø5mm sheath, material, which thermoplastic k high temperatu	uses polyphenylsulfone (PPS) is a medical grade high performown for their toughness and res, thus minimizes the risk of NSTRUMENTE GMBH	rmance stability		4,500.00	9,000.00
16	PCS	2	Maryland, Ø5m	m, autoclavable (reusable ins NSTRUMENTE GMBH	ert),		27,000.00	54,000.00
17	PCS	2	Carbon fiber-re	usable handle,non conductive	150 120	1 18	15,000.00	30,000.00
18	PCS	2 (4.5)	Ø5mm sheath, material, which thermoplastic k high temperatu	uses polyphenylsulfone (PPS) is a medical grade high perfonown for their toughness and res, thus minimizes the risk of INSTRUMENTE GMBH	rmance stability a	at Only	4,500.00	9,000.00
19	PCS	nor t s Vu s	SET II	asping forceps, Ø5mm, slightly	e flot love	Simp	and Hada ta A	27,000.00
19	PCS	r. r.		INSTRUMENTE GMBH	y nat jaw:	090	27,000.00	27,000.00
20	PCS	the most beauting and some converse of the con			osbuA AC sort sinal durpa bed solan isla	nito para la		15,000.00
Control No.	4874	-					SUBTOTAL:	Php 694,160.00
Total Amo	unt in W	ords Six Hu	ndred Ninety-four	Thousand One Hundred Sixty P	esos Only		en our den Gebe	
for every	day of del	ay shall be imp	M. TORRES ed name of Supplier)		Very t	ruly y	ours,	SOTTO
Requisition PAULO	A. CAST	re/Dept.: TRO JR., MD and Official)	-	JUVY A. QUENCO Chief Accountant	0			89, 110.00 0 - 2023 - 05 217 - 4421 Page - 2



Supplier :	ZENITH	MEDICAL E	QUIPMENT, IN	C.	P.O. No. :	23-09-0658	3	
Address: 1123 Rizal Ave., Sta. Cruz, Manila				Date:	Date: 09/22/2023			
					Mode of I	Procurement: PUBLIC BIDD	ING	
Gentlemen:	Dleace fu	rnish this offic	e the following	articles subject to the ten	ms and conditions	contained berein:		
	ricase iu	THISTI WIIS OTTIC	e the following	articles subject to the ter	ris and conditions	contained nerein:		
Place of De	-	Pasig City Ger	neral Hospital	A 1987		erm : 60 Calendar Days		
ITEM				100.1	Tayment res	UNIT	r completion of delivery	
NO.	UNIT	OTY		DESCRIPTION		COST	AMOUNT	
21	PCS	1 mpuone	material, which thermoplastic high temperate ACKERMANN	, uses polyphenylsulfone h is a medical grade high known for their toughness ures, thus minimizes the I INSTRUMENTE GMBH	performance s and stability at	4,500.00	4,500.00	
22	PCS	2	SET III Strong graspir	ng (grasper) Ø5mm, doub	le action	27,000.00	54,000.00	
			(version), ACK	KERMANN INSTRUMENT	E GMBH	kna Vi fins	0.0 d * 0.0 0.440 at the	
23	PCS	2		eusable handle, non cond tchet, ACKERMANN INS		16,800.00	33,600.00	
24	PCS	2 grand legat	Ø5mm sheath material, whice thermoplastic high temperate	r, uses polyphenylsulfone h is a medical grade high known for their toughness ures, thus minimizes the INSTRUMENTE GMBH	performance s and stability at	4,500.00	9,000.00	
25	PCS	1		ceps, atraumatic inner tee	eth, Ø5mm,	28,100.00	28,100.00	
			ACKERMANN	INSTRUMENTE GMBH	ing — usite til. 17-1	- 10 - 10 - 10 - 10 - 10 - 10 - 10 - 10		
26	PCS	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	(traditional) ra GMBH		RUMENTE CONTROL CONTRO		16,800.00	
Control No	4874	-				SUBTOTAL :	Php 840,160.00	
		ords Eight H	undred Forty Th	ousand One Hundred Sixty	Pesos Only	SOBIOTAL.	Piip 040,100.00	
In c	case of the day of del	failure to make ay shall be impo	the full delivery to osed as provided w. TORRES d name of Supplier	within the time specified abore for by the, 2016 IRR of RA 9	ve, a penalty of one 1184. Very truly	yours,	SOTTO	
Requisitio	A. CAST	TRO JR., MD,	PHD	Funds Available :		Amount:	989,110.60	
	(Authori	zed Official)		Chief Accoun	tant) 0.	217 - 4421 Page - 3	



Supplier:	ZENITH	MEDICAL E	OUIPMENT IN	C	P.O. No. :	23-09-0658	3	
Address :	ZENITH MEDICAL EQUIPMENT, INC. 1123 Rizal Ave., Sta. Cruz, Manila					Date: 09/22/2023		
rudicss .					Mode of I	Procurement: PUBLIC BIDDI	NG	
Gentlemen:					Acides Leavelous A	Naileeu2		
	Please fu	rnish this offic	ce the following	articles subject to the terms	s and conditions	contained herein:		
Place of De	livery ·	Pasig City Ger	neral Hospital		Delivery To	erm : 60 Calendar Days	,	
Date of De		Tuoig City Oct	nerur riospitai			rm : within 45 days upor		
ITEM				The state of the s		UNIT		
NO.	UNIT	OTY		DESCRIPTION		COST	AMOUNT	
27	PCS	1 Cymru Lan * , Juli v (2) i	material, which thermoplastic high temperat	n, uses polyphenylsulfone (P th is a medical grade high po- known for their toughness a ures, thus minimizes the ris I INSTRUMENTE GMBH	erformance and stability at	4,500.00	4,500.00	
			SET V		7 (10 (10 (10 (10 (10 (10 (10 (10 (10 (10			
28	PCS	1	Standard gras	sping (grasper) forceps, Ø5r KERMANN INSTRUMENTE		27,000.00	27,000.00	
29	PCS	1	Carbon fibre r	eusable handle, non conduc I INSTRUMENTE GMBH		15,000.00	15,000.00	
30	PCS	1	Ø5mm sheath material, which thermoplastic high temperat	INSTRUMENTE GMBH In, uses polyphenylsulfone (Fight is a medical grade high polyphenyl high polyphenylsulfone), which is a medical grade high polyphenylsulfone in the result in the res	erformance and stability at	4,500.00	4,500.00	
			SET VI					
31	PCS	1		Ø5mm, curved, (insert), AC	CKERMANN	29,500.00	29,500.00	
32	PCS	1	Carbon fibre r	reusable handle, non condu	ictive,	15,000.00	15,000.00	
33	PCS		Ø5mm sheath material, which thermoplastic high temperate	n, uses polyphenylsulfone (F th is a medical grade high po- known for their toughness a tures, thus minimizes the ris I INSTRUMENTE GMBH	erformance and stability at sk of arcing.		4,500.00	
Control No.	4874	-	1			SUBTOTAL:	Php 940,160.00	
		ords Nine H	undred Forty Th	ousand One Hundred Sixty Pe	esos Only	SOBIOTAL.	Pilp 940,100.00	
In conform	day of del	MELISSM	M. TORRES ed name of Supplier	within the time specified above, for by the, 2016 IRR of RA 918	Very truly	Solid profit feet) (II) Solid to agree III Solid to agree III	SOTTO	
Requisition	A. CAST	ce/Dept.: FRO JR., MD zed Official)	, PHD	Funds Available : JUVY A. CUEI Chief Accountant		Amount: 10 OBR No.: 10	989, 110,00 0-2023-05 217-4421 Page-4	



Supplier	ZENITH	MEDICAL E	QUIPMENT. IN	IC.	P.O. No.	23-09-0658				
Supplier: ZENITH MEDICAL EQUIPMENT, INC. Address: 1123 Rizal Ave., Sta. Cruz, Manila					Date:	Date: 09/22/2023				
Treetiess .						Mode of Procurement: PUBLIC BIDDING				
Gentlemen:				dirinio artico partico de la care	Series Problems	Supplies S				
	Please fu	rnish this offic	e the following	articles subject to the terms a	and conditions	contained herein:				
	•	52875 A COLUMN COLUMN			000	00 00				
Place of D Date of D		Pasig City Gen	eral Hospital		Delivery Term: 60 Calendar Days Payment Term: within 45 days upon completion of					
	envery.	T			. Payment Te		n completion or delivery			
NO.	UNIT	OTY		DESCRIPTION		UNIT	AMOUNT			
NO.	CIVII	UII		DESCRIPTION	i conserior	NOV 9.9 N	AMOUNT			
					gue Althou	a compa de				
			SET VII		inaments on					
34	PCS	i van	Claw forceps.	Ø10mm (shaft), Traumatic ja N INSTRUMENTE GMBH	ws,	27,000.00	27,000.00			
35	PCS	i	the second section of the second section of the second section of	eusable handle, non conducti	ve, with	16,800.00	16,800.00			
				atchet, ACKERMANN INSTRU		E Delivery 1				
36	PCS	10.91		th, uses polyphenylsulfone (Pl	PSU)	5,150.00	5,150.00			
				ch is a medical grade high per		and thou	pain of #AR and Insurance Confirmation			
			thermoplastic known for their toughness and stath							
				N INSTRUMENTE GMBH	or arcing.,					
				****** Nothing Follows ******	***************************************					
					nemo (dos					
Control N	o. 4874	-				GRAND TOTAL :	Php 989,110.00			
		ords Nine Hu	ındred Fiohtu-n	ine Thousand One Hundred Ten	Pesos Only	GRAND TOTAL .	Fiip 505,110.00			
			73.93	O I O An O'S male with 1 mile 1 mile	month of a A.C. and	content content th				
for ever	case of the y day of del	lay shall be impo	the full delivery osed as provided	within the time specified above, a for by the, 2016 IRR of RA 9184.	penalty of one	tenth (1/10) of one (1) p	percent			
					plate troye					
					Very truly	y yours,				
0 4					dula time 417 is					
Confor	me:		1		/(300	TOR MA REGIS N.				
		,,,,,,,	vinves.		VIC					
	(Cion		W.ITORRES	w)		(Authorized Offici City Mayor	al)			
	(Sign	i i	d name of Supplies	1/		Oity Mayor				
		10/5/2	13							
		Date	2							
				M						
Requisition	oning Offic	ce/Dept.:		Funds Available :		Ð	929 110 00			
		-0-				Amount:	989, 110.00 6-2023-05			
PAUL	O A. CAST	TRO JR., MD,	PHD	JUVY A. CUENC	000	OBR No.: 10	6-2023-05			
0-2-03/03/2000		ized Official)		Chief Accountant	U"	5.	217-4421			
	1						Page - 5			